Instructor Notes – Conversions (Miscellaneous)


Lesson Objective:  Conversions are an essential part of any trade, including the automotive industry.  The objective of this lesson is to perform various conversions on quantities pertaining specifically to the automotive industry.
What is the difference between 1 centimeter and 1 inch?  What about 1 mile and 1 kilometer?  Which are the larger units?  How many centimeters make up 1 inch?  How many inches are in 1 centimeter?  Why is it important to be able to convert between systems?
Have students show these lengths on their paper (centimeters and inches).  Then have them approximate how far 1 mile is and 1 kilometer.

Example 1)  Which metric wrench is closest to a 5/16 inch wrench?  (Hint: use the decimal form of this number.)
1 inch = 2.54 cm		1 cm = 10 mm
	.3125 in
	2.54 cm
	10 mm
	= 7.9375 mm     (approx. 8 mm)

	
	1 in
	1 cm
	



A 6 mm wrench is how many inches?
	6 mm
	1 cm
	1 in
	= .2362 in   (approx. ¼ in)

	
	10 mm
	2.54 cm
	



Example 3)  = ________  
	90 ft
	1 mi
	3600 sec
	= 61.36 mph

	sec
	5280 ft
	1 hr
	



[bookmark: _GoBack]*You can write these conversions in any order.  The important thing is that the units cancel.  So, if 90 feet is in the numerator, you must put the next feet in the denominator so that the feet cancel.
Example 4)  
	60 m
	1 km
	1 mi
	3600 sec
	= 134.16 mph

	sec
	1000 m
	1.61 km
	1 hr
	



Or, you can use these conversions to reach the same conclusion:
	60 m
	3.28 ft
	1 mi
	3600 sec
	= 134.18 mph  

	sec
	1 m
	5280 ft
	1 hr
	



*The answers vary slightly due to rounding.
Example 5)  Hybrid motors are generally rated in Watts.  What is the hp rating of a hybrid electric motor that is rated at 20,000 Watts?
1 hp = 746 Watts
	20,000 W 
	1 hp
	       =  26.81 hp

	
	746 Watts
	



Example 6) A 400 meter relay is how many feet?
1 meter= 3.28 ft
	 400 m
	3.28 ft
	= 1312 ft 

	
	1 m
	



Example 7)  A 5 kilometer race is how many miles?	
1 mi= 1.61 km
	5 km
	1 mi
	= 3.1 mi 

	
	1.61 km
	



Example 8)  A 40 acre parcel measures ¼ mile by ¼ mile square.  If a rectangular lot measures 150 feet by 300 feet, how many acres is this?
1 mile = 5280 feet
	150ft x 300 ft
	1 mi
	1 mi
	 40 acre
	= 1.03 acre

	
	5280 ft
	5280 ft
	.25 mi x .25 mi
	



Example 9) A baseball field measures 389 feet by 490 feet.  How many acres is that?  
1 acre = 43,560 
	389 ft x 490 ft
	1 acre
	= 4.376 acre 

	
	43,560 
	




Example 10)  A capacity is 350 kg.  How many pounds is this?	
1 kg = 2.20 lbs
	350 kg
	2.20 lb
	= 770 lb 

	
	1 kg
	



